tm’ | (0,0) (1,1) (0,0) (1,1) (0,1) (1,0) (0,0) (1,0) (0,0) (0,1)
tm” | (0,0) (0,0) (1,1) (1,1) (0,0) (0,0) (0,1) (0,1) (1,0) (1,0)

£ characteristic m IZ, EDORIZE > THEZ i 2 BIET

0;(2) = On(é(2)) (i=0,1,...,9),
62 = 007, (a€eN,iy,...,i,€{0,1,...,9})

B
Gundlach o)%%i U N M:V(FK) = C[Gz, Gs, Glo].
sg 1= 67+ (25 3 52)"1(G3 — Cb),
s10 1= (21035 55.7)71(22. 3.7 4231G5 — 5 - 67 - 2293G3G¢ + 412751G1o)
&B< C\.'-, s¢ = Hg € S‘g(FK), S10 € SfO(PK) f‘i)’)f, Mgv(FK) = C[Gz, S6, 810].

. o—6
Ss =2 001...9

LB L, 55 =27%0. XHIT 62 =510 BEKILTD. ZHIXFHD Fourier FREX
ZHBUTHEHINS. ROFRE Fourier RBOHEIZ X 5.

Gy = 27205+ 01+ 05— 603+ 03 + 05+ 05 — 63+ 03— 63)
00145 - 91279 - 93478 + 90268 + 03569;

. o—8/p2 2 2 2 2
s6 = 27 (Op12478 + Oo12560 + Op34s68 T 0236780 + O1a4570)-

s15. 1= —27'%(05,035024 — 035675000 + 035053046 — 059035016

+030656025 — 03765050 -+ 03505,007 — 054655007
— 026063058 — 054057918 — 039687623 — 637634018
+050035067 — 39055057 + 036059825 — 033026058
+0$1)6035009 - 92605518903 - 935989916 - 927929013
+057830023 + 033636003 + 63,635040 — 635054067
+035057024 + 033055016 + 03505,6s0 + 6300%;613
—63305,840 + 633030057

Bl S15 € st(FK), D(Sls) = gsAz.
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